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8 Simplify the expression and find your answer in the adjacent answer column.
Write the letter of the exercise in the box that containg the number of the &8
answer. Assume that all variables represent nonnegative numbers.
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) @545 52
\ @ -445 - 945
¢ 38 - 245

; D 5118 (-2+8)
68 245 - 7435
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2. Perform the following operations and simplify all radicals:

3.5 + 44/5 b) 2T +7\2 ) 14+/8 - 54/8
W11+ 711 - 411 e) 7V6+4J3-3J6+24J2 ) J8+4/18
J75 =20 h)y 27 +4/48 =243 i) —5v44 + 299

3372 + 2475 =34/27 +4/108 k) J250 =135 = /40 + /735



